Fold

2 POINT QUESTION

2FelCls + 3MgO > Fe=03 + 3MgClz

Using the balanced equation above,
convert 52 grams of Fells to moles
of Fez035

1 mol FeCl,
162 g FeCl,

1 mol Fe, 04
2mol FeCl,

SZgFeCl3(

)

AsWR: 016 moles of Fez03

)

2 POINT QUESTION

2Fells + 3MgO - Fe=03 + 3MgClz

Using the balanced equation above,
convert U3 grams of Fells to moles
of MgClz

1mol FeCl,
162 g FeCl,

3 moles MgCl,

43gFeCl3<

)

AWER: QU0 moles of MgClz

)

2 moles FeCl,

2 POINT QUESTION

2Fells + 3MgO - Fe=03 + 3MgClz

Using the balanced equation above,
convert 14 grams of MgO to moles of
FEED§|

1 mole MgO
403 g MgO

1 mole Fe, 04
3 moles MgO

14 grams MgO (

)

AMWER: 012 moles of Fez03

)

2 POINT QUESTION

2Fells + 3MgO > Fe=0s + 3MgClz

Using the balanced equation above,
convert 72 grams of MgO to moles of

MgClz

1 mole MgO
40.3 g Mgo

3 moles MgCl,

72 grams MgO (

)

AMWER: 18 moles of MgClz

)

3 moles MgO
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2 POINT QUESTION

2Fells + 3MgO - Fe=03 + 3MgClz

Using the balanced equation above,
convert 2 moles MgO to moles FeCls

2mole FeCl3)

2 M (—
moles MgO 3 moles MgO

AMWER: 1.3 moles of FelCls

2 POINT QUESTION

2Fells + 3MgO - Fe=03 + 3MgClz

Using the balanced equation above,
convert & moles MgO to moles of

MgClz

3 moles MgCl2>

Moo
6moles Mg0 3 moles MgO

AMWERR: & moles of MgClz

2 POINT QUESTION

2Fells + 3MgO - Fe=03 + 3MgClz

Using the balanced equation above,
convert 1.8 moles FezOs to moles MgO

3 mole MgO )

1.8 moles Fe,0, (W

AMWER: S U moles of MgO

2 POINT QUESTION

2Fells + 3MgO > Fe=0s + 3MgClz

Using the balanced equation above,
convert S.U moles Fells to moles of

Fez035

1 mole Fe,04 )

5.4 moles FeCl, (m

AMWER: 27 moles of Fezls
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2 POINT QUESTION

2Fells + 3MgO - Fe=03 + 3MgClz

Using the balanced equation above,
convert 0.5U maoles Fells to moles of

MgClz

3 mole MgClz)

0.54 moles FeCls (m
3

AvWER: 0.B1 moles of MgClz

2 POINT QUESTION

2Fells + 3MgO - Fe=03 + 3MgClz

Using the balanced equation above,
convert 3.3 moles of Fez0s to moles

of MgClz

3 mole MgCl2>

3.3 moles Fe, 05 (1 ol Fo O
2Y3

AMWER: 3.3 moles of MgClz

2 POINT QUESTION

BLi + 2HsPOy > 3H:z + 2LisP0Ou

Using the balanced equation above,
convert 67 grams of Li to moles of
Ha

67 grams Li (

1 mole Li) <3 mole Hz)

6.941 g Li/ \6 moles Li

AMWER: U1 B moles of Hz

2 POINT QUESTION

BLi + 2HsPOy > 3H:z + 2LisP0Ou

Using the balanced equation above,
convert 23 grams of Li to moles of
LisPOy

23 grams Li (

1 mole Li ) (2 moles Li3P04>

6.941 g Li 6 moles Li

AMWER: 11 moles of LisPOy
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2 POINT QUESTION

BLi + 2HsPOy > 3Hz + 2LisP0Oy

Using the balanced equation above,
convert 51 grams of HsPOuy to moles

of LisPOu

1 mol H3P04) (2 mol Li3PO4)

1gH,P (
519 HsP0s\ 5= p0, ) \Zmol 1, PO,

AMWR: .52 moles of LisPOy

2 POINT QUESTION

BLi + 2HsPOy > 3Hz + 2LisP0Oy

Using the balanced equation above,
convert U2 grams of HzPOy to moles

I:If HE

1 mol H3P04)( 3mol H, )

42 g HyP
g 04(98gH3P04 2 mol H,PO,

AsWeR: 06U moles of Hz

2 POINT QUESTION

BLi + 2HsPOy > 3H:z + 2LisP0Ou

Using the balanced equation above,
convert 5.1 moles Li to moles HsPOy

2 mole H3P04)

5.1 moles Li < e moles Li

AMWER: 17 moles of HsPOy

2 POINT QUESTION

BLi + 2HsPOy > 3H:z + 2LisP0Ou

Using the balanced equation above,
convert U.B moles LisPOy to moles of

Li

6 mole Li )

4.6 moles Li3PO4 (W
4

AMWER: 1Ll moles of Li
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2 POINT QUESTION

BLi + 2HsPOy > 3Hz + 2LisP0Oy

Using the balanced equation above,
convert 0.21 moles of Hz to moles of

HsPOu

2mole H3PO4)

0.21 moles H, ( Zmoles I
2

AMWER: 01U maoles of H3POy

2 POINT QUESTION

BLi + 2HsPOy > 3Hz + 2LisP0Oy

Using the balanced equation above,
convert 095 maoles of HaPOy to moles

of LigF'Du

2 mole Li; PO, )

0.95 moles H;PO, (2 —oles FI.PO
3 4

AMWER: 095 moles of LisPOu

2 POINT QUESTION

2Zn5 + 30z >2Zn0 + 250z

Using the balanced equation above,
convert 22 grams of Zn5 to moles of

Zn0O

1 mol ZnS ) <2 mol ZnO)

2292ns (97.44 g ZnS) \2mol ZnS

AMWER: 0.23 moles of Zn0O

2 POINT QUESTION

2Zn5 + 30z 2> 2Zn0 + 250z

Using the balanced equation above,
convert Ul grams of Oz to moles of

Zn0O

1 mole 02) (2 moles ZnO)

4190, ( 3290, 3 moles 0,

AMWER: 0.8BS moles of ZnO
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2 POINT QUESTION

2Zn5 + 30z 2 2Zn0 + 250z

Using the balanced equation above,
convert 73 grams of Zn5 to moles of
S0z

1 mol ZnS )(2 mol 502)

7997 (
9215\ 9722 g 2n5)\Zmol zns

AMWER: 0.81 moles of S0z

2 POINT QUESTION

2Zn5 + 30z > 2Zn0 + 250z

Using the balanced equation above,
convert 56 grams of Oz to moles of
S0z

1 mol 02) (2 mol 502>

56902(32g02 3mol 0,

AMWER: 1.2 moles of S0z

2 POINT QUESTION

2Zn5 + 30z 2 2Zn0 + 250z

Using the balanced equation above,
convert 7.2 moles of ZnS to moles of
Zn0O

2 mol ZnO)

7.2 mol ZnS <m

AMWER: 7 2 moles of Zn0O

2 POINT QUESTION

2Zn5 + 30z 2> 2Zn0 + 250z

Using the balanced equation above,
convert 0.13 moles of S0z to moles of
zn5

2 mol ZnS)

2

AMWER: 0,13 moles of ZnS
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2 POINT QUESTION

2Zn5 + 30z > 2Zn0 + 250z

Using the balanced equation above,
convert O0.U9 maoles of Oz to ZnS

2 mol ZnS)

0.49 mol 02 (W
2

AMWER: .33 moles of ZnS

2 POINT QUESTION

2Zn5 + 30z > 2Zn0 + 250z

Using the balanced equation above,
convert 3.8 moles of ZnO to moles of
S0z

2 mol 502>

3.8 mol Zn0 (m

AMWER: 38 moles of S0z

2 POINT QUESTION

2Zn5 + 30z 2 2Zn0 + 250z

Using the balanced equation above,
convert 12 moles of Oz to moles of
Zn0O

2 mol ZnO)

12 mol 0, <—3 mol 0,

AMWER:B moles of ZnO

2 POINT QUESTION

2FeSz + 5Lz > 2Fells + 25:Clz

Using the balanced equation above,
convert B2 grams of Fe5z to moles
of FelCls

1 mol FeS, ) (2 mol FeCl3>

62 g FeS (
97€2\119.97 g Fes,) \ 2 mol Fes,

AMWER: .52 moles of Fells
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2 POINT QUESTION

2FeSz + 5Lz 2 2Fells + 25zC1z

Using the balanced equation above,

convert 51 grams of Fe5z to moles of
SaClz

1 mol FeS, ) (2 mol SZCZZ)

1gF (
519 FeS2\175.97 5 Fes,) \Zmol Fes,

AMWR: O U3 moles of SzClz

2 POINT QUESTION

2FeSz + 5Lz 2 2Fells + 25zCIz

Using the balanced equation above,
convert Bl grams of Clz to moles of
FelCls

1 mol Clz)(Z mol FeCl3>

1
8lg (L (70.9 g ¢L)\ s molcl,

AWR: OUB moles of Fells

2 POINT QUESTION

2FeS:z + 50z > 2Fells + 25:Cl:z

Using the balanced equation above,
convert 78 grams of Clz to moles of
SzClz

1 mol Clz><2 mol SZClz)

789l (70.9 g ClL,) \ "5 mol CL,

AMWeR: O UU moles of SzC0z

2 POINT QUESTION

2FeSz + 5Lz > 2Fells + 25:Clz

Using the balanced equation above,
convert 18 moles of Clz to moles of
SaClz

2 moles S, Cl2>

18 moles Clz( 5 moles Cl,

AMWER: 7 2 moles of SzClz
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